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St. Mary’s School, Dwarka
Holiday Homework
Std. VIII
Week 4
Worksheet 4
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Subject: English

Q1. Read the passage given below.

It may seem crazy when you watch your dog bury his favourite bone or chew a toy, only to dig it up
a day or two later. The reason is- it is simply in their nature. Dogs have buried their bones for four
thousands of years. This practice started long before dogs were even pets, when their ancestors had to
bury bones to survive.

When dogs lived in the wild, sometimes food was scarce. If they were able to find meat and bones,
dogs became very protective of it. Sometimes they would have more meat than they could eat for one
meal. To keep other dogs and animals from stealing their meat, dogs would bury it in the ground.
When it was time for the next meal, they would dig up their bones and enjoy them again. This would
continue until the meat and bones were gone.

Even though most dogs have plenty of food to eat today, their instincts still tell them to bury bones
and favourite toys. They do this to keep other dogs and animals from stealing them, just like their
ancestors did. Some dogs hide more than one bone at different places. This leaves a backyard full of
holes and bones.

So how do dogs decide where to bury their bones? A dog cannot bury a bone just anywhere. He must
first find the perfect spot. This involves using his nose to sniff out a spot that is free from predators.
Often it is near a tree or a large rock, but it could be anywhere in the yard. Once the dog finds the
perfect spot, he uses his front paws to dig the hole, drop the bone and covers up the hole to protect his
treasure.

Unfortunately, even while they bury the bone near a special tree or mark their territory, they do not
always remember where the bone is buried. Thankfully, they have an impeccable sense of smell. a dog
can smell a bone even if it has been buried for years. Most of the dogs find bones they have buried on
their own, but they can also find bones buried by other dogs. To the dog, whatever he finds is a treasure.
On the basis of your reading of the passage, choose the correct option: (1x5 =5)

1. The dogs bury bones

a) to protect their families

b) as it is simply in their nature.
c) because they follow other dogs.
d) to have a little fun

Page 1




I1. What does the word ‘scarce’ most likely mean?
a) insufficient
b) copious
c) rare
d) plentiful
I11. Why do pet dogs bury food even when they have plenty to eat?
IV. Which one of them is NOT the way a dog buries its treasure?
a) A dog uses his paw to bury its bones.
b) He keeps it safely in the hollow of a tree.
c) He hides it in its kennel.
d) A dog uses his nose to sniff out a spot that is free from predators.
V. Replace the underlined word with its antonym from the text.

The student was disappointed with her_imperfect score but she vowed to study harder for her next

exam.
Answer questions 2 to 4 in 20-40 words. (2x3=6)
Q2. What do the people mentioned in the poem ‘Goody for Our Side and Your Side Too’,

wish to do? )
Q3. What work did the mysterious invaders do in the chapter ‘There Will Come Soft Rains’ (2)
Q4. Why do you think there is a conflict between the natives and foreigners? (2)

Answer question 5 in 60 -80 words.
Q5. Why does the house continue its activity even when it no longer makes sense? (3)

Q6. Make a collage of the freedom fighters on an A/4 sheet and write a note or a token of thanks also.

Q7. Fill in the blanks with the most appropriate words from the brackets: (1>((52):2)
i. The teacher divided the sweets all the children. (between/among)
ii. The boy the store is quite young. (at/on)
Q8. Fill in the blank with suitable words (2
i Its windy today, take your umbrella be careful.

Complete the given sentence, by filling in the blank with the correct option:
ii. 1 have respect admiration for them.

a) whether...... or (b)and ...... SO (c)both ....... and (d) neither .....or
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Q9. You are Ragini/Rajan, the Head Boy/Head Girl of St. Peter’s School, Lucknow. Your school is
going to organize a workshop on ‘Table Manners and Etiquettes’ for the students of classes IX-XII.
Draft a notice to be put up on the school notice board informing the students about the same in not more
than 50 words. Enclose the notice in a box. 3

Q10. You are Sushant/Sushma residing at 23-C Park Apartments, Dwarka, New Delhi-110075. Your
friend Kunal loves reading books. Write a letter to him in about 120 words, inviting him to spend a
week with you so that both of you can attend a ‘Book Fair’ that will be held in your city in the

month of July. 4)
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Subject: Hindi

nee 1 fReafafaa smféa segner ©f ygaw uvsl © Icax 3fta fawey gaoe dfse —

(1x5=5)
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Subject: Mathematics

Q1. State whether the following are True/False: (0.5x4=2)
a) Rational numbers are not closed under division, if zero is excluded, then the collection of all

other rational numbers is closed under division.
b) For any rational number a, a + 0 is not defined.
¢) A rational number a/b is called the multiplicative inverse of another rational number
c/dif
a/b x c/d=0.
d) A number which can be written in the form p/q , where p and g are whole numbers and q is
not equal to O is called a rational number.

Q2. Choose the correct option: (1x2 =2)
1) The value of x for which the expression 5x-13 and 2x - 1 become equal is .
a) -3 b) 0 c)5 d) 4

ii) The digit in the tens place of a two digit number is 3 more than the digit in the units place . let the
digit at units place be b . Then the number is

a) 11b+30 b) 10 b+ 30 c) 11b+3 d)10b+3
Q3. Solve the equation and check your answer : gx —-2=5- 3?’( @)
Q4. Name the property that is reflected in the following expression: (0.5x4 =2)

a) 5/11x 11/5 =1
b) 24/10 x 5/6 = 5/6 x 24/10
) 5+ (5)=0

d) 99 x 58 = 100 x58 — 1 x 58

Q5. Note down your admission number. Take x times of last digit of your admission number and add
your roll number to it . Put it equal to your age and solve the equation for x. (2)

Q6. Represent the following rational numbers on a number line : 3)
7 =2 5 -4

8 4 2 16

Q7 If we represent the distance towards North with positive rational number and the distance towards
South as negative rational number. The speed of a body ‘A’ is 5/2 m per second. Draw figure and find
the distance from the origin when : 3

a) ‘A’ travels towards South for 20 seconds.
b) ‘A’ travels towards North for 16 seconds.

Q8. Find the sum using suitable property: (1.5x2=3)
(i) 4/3 + 3/5 + (-2/3) + (-11/5)
(ii) (-8/3) + (-1/4) + (-11/6) + 3/8
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Q9. In the given parallelogram ABCD, find the value of x and y. (3)

D C
(3x+ 3)°
B
3y @y
A B
Q10. Activity work : Make a G.O. on A4 size sheet showing the classification of quadrilaterals and
depicting their properties . (3)
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Subject: Science

Q1 What is carbonisation? 1)
Q2. A box that weighs 250 N is at rest on the floor. The pressure exerted by the box on the floor is

25000 Pa. Calculate the area of contact of the box with the floor. 1)
Q3. Give reason: (1+1=2)

(@) Coal and petroleum cannot be prepared in the laboratory.
(b) Coal is one of the fuels used to cook food.

Q4. Name the machine given below. What is it used for? @)

Q5. Calculate the net force and find the direction of movement in each of the following cases:

(1+1+1=3)
(A) (B) (C)
6N
T N
4N € —=> 4N NS —> 3N 3N € — 5N
N
2N
3N
Q6. (a) Why is petroleum termed as ‘Black Gold’? (1+2=3)

(b) List different constituents of petroleum and write their uses.
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Q7. Observe the given pictures showing irrigation methods and name them. Which irrigation method
would you recommend to a farmer and why?

(3)

Q8. (a) The pressure of a gas contained in a cylinder with a movable piston is 300 Pa. The area of the

piston is 0.5 m2, Calculate the force that is exerted on the piston.

(2.5)

(b) A student pours water in a bottle which has three holes at different heights in the bottle. The water
starts coming out as shown in the picture below. List the inferences which can be made from the

experiment conducted.

(2.5)




Q9. When heated in air, coal burns and produces mainly carbon-dioxide gas. Coal is processed in
industry to get some useful products such as coke, coal gas and coal tar. Each of these components are
very useful. Coal tar obtained is a mixture of around 200 substances. (1x5=5)

(@) What is the property of coal tar?

(b) For what purpose is bitumen used?

(c) Which substance is used for the manufacture of steel?

(d) Naphthalene balls are made from coal tar. What are they used for?
(e) Burning of fossil fuels causes air pollution. Justify.

Q10. Recently Indian Farmers Fertilizer Cooperative Limited (IFFCO) introduced Nano Urea Liquid for
farmers. List any three reasons why Nano Urea is better than granular urea. How can Nano Urea bring

revolution in the field of agriculture. (5)
AN
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Subiject: Social Science

General Instructions:

The work should be done neatly and in a systematic way.

The given worksheets are to be done in History and Civics notebook.
Mention the number of worksheet while doing the work.

Write questions along with the answers and number them correctly.
Maps/diagrams are to be pasted/drawn in the notebook.

Project work is to be done in a scrap file.

YVVVYYY

Q1. Define the given terms: 1
(i) Democratic (ii) Republic

Q2. Give any two reasons why the British needed a large army?

Q3. Explain briefly the ‘Dowry Prohibition Act’.

Q4. List any two methods of soil conservation.

Q6. “A span of time is more important in history rather than a precise date”. Elucidate.

1
1
1
Q5. What is Preamble? Explain the features ‘Justice and Equality’ given in the Preamble. 2
3
Q7. Give three points of difference between Red soil and Laterite soil? 3

3

Q8. Answer the given questions briefly:

(a) Why do people defy laws?
(b) When and where did Salt Satyagraha begin?
(c) Why was this movement launched?
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Q9. Look at following picture and answer the questions that follow. 5

S0
.

(i) Identify the person in the picture above. When did he become Governor General?

(if) How did he acquire territories in India?
(iif) Which Indian rulers signed his alliance?
(iv) What were the conditions that the Indian rulers who signed the alliance had to agree with?
(v) How was the alliance advantageous to the British?
Q10. Project Work 5
e Search and find out information about the below given classification of resources (their
availability, utility, value and how these can be conserved).
e Present the information gathered about these resources along with the relevant pictures in a scrap
book.

= Based on Origin

Resources —
B Based on

Ownership

Based on Status of
development
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Subject: Sanskrit

uedt 1 sreifafird srcener ufsqar agfdwaaer yese Scawa - (1x5=15)

UbfTdIcl A SPIaUIcTs olld] €3 wsolels defd <dl | awel Ucodls olldl el 3eld | SoTaurets
wfierd adler et e adfes o 36| SOAUcT=I gcd 3idld 3Ted, Bl
RIId: T 3icild AAER: SIAlA | ot coudht w=del fAdwaas w1 | il & =oafdas #as €ds g=Iz vl
gt T |gRRI orer fadw: ysem et ufdem o smedle | fddw: ewreer adfer ufdsn @ et
oI | fade: AadmeIRns usfa 01 ufden o qdlemenst, wearns usfa =1 | 3ma-fada aemifc
QeIIVIH, BRI fRelcd] STelaulcTte=l 841, 3Tcletid] THURIH, dcld | SIeTauleTs U 3enafl
BT T RU®DS 3I¥AI | 73 FAdal RiVdaiivl wctdels o UlclIfa @1 | 73 ufeaIerd] qear wag
it 31ee1d1, ,RNBd ,Beld] d 3culciad wal | awl ¢ bl 2ddavll €3 dadd | =1 Jen
sfodd] goudl carfd <01 | SeTcurets Zidel wufzarul e fdavfa <o |
1 fadw: ofeste weirme ofa wor”? 1

() fgehenwerrar

(Ra) AR,

(31) weraTTaveITITe

(&r) 3recat et
2  SOIUIcRRI QSRR old fdd1 3imedte ! 1
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ugel 2 folsel gtcal Goaudsl HeRal Raaeenenfa ywaa — (¥2x6 = 3)

IO = DogDel , QeI , Afcidl , AT, , PIDG, &

5est 3 dvorRm 3fka yafd adicar ws qrera — (¥2x6=3)

oI~ s , fadafiger, @, sifawfa | sift | sereer: |

Pleigeds |
fqetis 12.06.2023
foer s
ca
@t [1]
313 wdd, [2] | s a1 3ifa wde werete, [3] | 31891 S, [4]
gIfd Ad 3164 [5] e sifdid s fearaeucer sifswnfa | sraret [6]

3l A8 Telq sfd e uden sl sifed |aa =1d a1 fafcicar sietearsierd
i | ufzar gsaess AlaUaIe] JoTa: |

atdas faser

dluss
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ueet 4 seifafea ware e sftauafd i Reawenenfa gweeg -
(Yox4=2)

IOl - BER | FI6IeGs , Uolal , BEIRIE,

arew - 8 fay | @ owe [1] ------ uofa !

wRen - Ay | see waett et [2]------ |

qrgem - dd BeIRm 3Rl fod arer sifea 7

TR~ HA BRI ARl o [3]------ 3ifed | aa e 3arRiwRI o6 fdar
sifea 7

ARIRm -~ HAHA BRI AR ol URdeioas 3ifwd |

FRR - dd DelRIH Bia [4]------ uofed 7
srea1 5 seifefRady Raawery ugfd yer <@wisa aaenfd owa (¥ox4=2)

I3 T ------ (a1 +arcar) el=adt felwafa |

STo1 6 oD gacds e T W frawEeR Q- (vix4=2)

(8 )ata1 wedrIa ------ B wfed | ( 45)
ued 7 T@ifed g, e uee fAeflaae] — (Yox4=2)

1) ot ws foeaas |
(2) = wrem 31 |
(3) srEe SMEBHA, w@cifd |
(2) af} geamifar wfe |
yeel 8 wrearene] 3¢ falaa - (Yox4= 2)
QI , 3(odtgH, , AIURAMGTH, , ofclel
el 9 URRURTS Holold oed — (Yox4=2)

(1) <fawer 31e¥el drdis wefld = 2uas |
(2) arpmETs BIAIeTHGTZRT YdIRd Toial |
(3) eafoifaelumeror  sifeoet sict efideta emafd |

(2) arwemere 31eie] GaTcIa] ITTBIas |
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Subject: Computer Science

Practical based questions:

Instructions:-

Paste the snip of the program code and the output window after each question.
Save the file as Ch 2-3 Python Practical .pdf

Upload the pdf file under the assignment created in Microsoft Teams.

Write the Python program for the following using input( ) statement:-

o a0k~ w N E

Loop Statement Programs — while () statement

To find the volume of cylinder. (v=pi*r*r*h) where value of pi is 3.14

To find the area of triangle. (a=1/2*b*h).

To find the surface area of a hemisphere. (s=2*pi*r*r) , where value of pi is 3.14
To convert Celsius temperature into Kelvin. (K=273+C).
To find the area of cuboid. (a=2*h *(I + b))

To convert 4 hours into minutes. (Lhour = 60 minutes)

7. To print the numbers in the reverse order from 10 to 1.

8. To print the sum of odd natural numbers

Decision Statement Programs — if...else , if..elif..else statement

9. To print the grades achieved by the students as per the marks scored by the students.

MARKS RANGE
91-100
81-90
71-80
61-70
51 -60
41 -50
33-40

32 & below

GRADE
Al
A2
Bl
B2
C1
C2

10. To check whether the entered number is positive or negative.
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